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Note: Answer any FIVE full questions,ahiqping ONE fuL questionfroirn'"orl, module.
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t a. Exprarn wrln an exampre : d#tr
i) Oriented graph 

- t%Tt 
*;

ii) Basic cut sets :

,,q*.klll) Easlc loops. ;-++ ,i*fl" (06Marks)
b. For the network show*uffithe Fig.Ql(b), formula@d oriented graph, tee, bus incidence

matrix(A), branch-pgth lircidence matrix(K), B*}e ffit set incidence matrix @), basic loop

Seventh Semester B.E. Degree Exa n, Dec.20231Ja,n.2024

incidence matrb6(ry*phoose elements (1,203ij) as three branches.
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b. Derive arr'

method.
c. For the sample netrvork,gsvm in

inspection method. ,. '

(06 Marks)
(Ynus) using singular transformation

(08 Marks)
Fig.Q2(c), obtain BUS admittance matrix (Ysus) by

"o 'L-f
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il]**',' fig.Q2(a)
for bus adfnittance matrix
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Fig.Q2(c)
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3a.
b.
c.
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e. W oR fl*\ra e"^ \
for a load flow soffif to5 Marks)What are the constraints to

Classifu the Buses in power
For the sample power
Calculate the voltages

b. Detive the

fu for conduction of lgad &ow solution. (05 Marks)
iown in Fig.Qa(c) affies except slack bus are PQ buses.

1't iteration using %#'$- Seidal load flow (GSLF) method.
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tjo,+gq*m
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9'sdnprpq

rig.Qf(ffi * \o {r (ro Marks)
ry%;* 's$$-#fu..s*k ,*ryfl ,*ffi^ry.s- M*#-"%rs ffiI*3 * *5 a. Explain with g ffiw chart Newton -Wh.oo Load Flw--Cfrnl-nl method to solve load flow

- problem{iql&lar form).. * M __ 

"ffi 
(10 Marks)problem (ig 6t* form). &e-- *q*d' (10 Marks)

b. e sara@us system nas ffiffis, PQ bus, Pd$th*1one each), write the structural form
po*"Gpiem Jacobian mffi4 with necessary gquations to calculate its elements.

(10 Marks)* - 
-5- (lo Marks)

d * JffiBs#ffie

-3r * fufl ,*lTff** &" 41" 'tug16dry "\@'"1wts*. *.. $'% *". Ira##1"' gq Y eR*v/- ^ W- 'q
nt assqfu[ion made in arriving at Fast Decoupled Load Flow
methi. (10 Marks)

Lf ffioa (in polar form). (10 Marks)

S,z

6 a. Explain in brig,f
Method (FDlffiffiom NRLF me@$ '.' (10 Marks)

b. Explain wffiffiw chart FDLF ffi&od (in polar form). (10 Marks)

7 a. Write a brief note
dispatch studies.
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on thH{erformance curves of a thermal power station for economic load

c. A power plantffi&sting of two pnits ICr = 40 + 0.2Pr and lC2:39 + 0.25P2. Find the total
yearly saving ifffuel cost in Rupees, for optimal scheduling of a load of 130MW as

tr (06 Marks)
for economic dispatch with tansmission losses neglected. (06 Marks)

cost in Rupees, for optimal scheduling of a load of 130MW as
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ation for condffifpower systergst#ility sttrdies. (10 Marks)

note on msodffimployed for aQ*hrical solution of swing equation :

method6W ffi
-"& W , 
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